Name____________________
2.3 Why is population increasing at different rates in different countries?
A. Demographic Transition
a. Most of humanity’s_____________________________________________________________________
b. Crude birth rates_______________________________________________________________________
c. During most of this period________________________________________________________________
d. The burst of population growth___________________________________________________________
e. Most of human history __________________________________________________________________
f. After around 1750______________________________________________________________________
g. The first part__________________________________________________________________________
h. During the second______________________________________________________________________
i. Countries entered stage 2________________________________________________________________
j. The result of the transformation___________________________________________________________
k. New machines_________________________________________________________________________
l. Countries in Africa______________________________________________________________________
m. Improved medical______________________________________________________________________
n. A country moves_______________________________________________________________________
o. The crude death rate declines because______________________________________________________
p. A society that enters____________________________________________________________________
q. A country reaches stage 4 when___________________________________________________________
r. Social customs again____________________________________________________________________
s. Alternatively, geographers_______________________________________________________________
B. Population Pyramids
a. Population in a country__________________________________________________________________ _____________________________________________________________________________________
b. The shape of the pyramid________________________________________________________________
c. The larger number of dependants_________________________________________________________
d. As countries pass ______________________________________________________________________
e. More than 1/4th _______________________________________________________________________
f. In general, slightly more_________________________________________________________________
g. The difference also relates_______________________________________________________________
h. The different shapes result from __________________________________________________________
C. Countries in Different Stages of Demographic Transition
a. Cape Verde___________________________________________________________________________ _____________________________________________________________________________________
b. Chile______________________________________________________________________________________________________________________________________________________________________
c. Denmark_____________________________________________________________________________
D. Demographic Transition and World Population Growth
a. The 19th century decline_________________________________________________________________
b. However, reducing the CBR______________________________________________________________ _____________________________________________________________________________________


Name _________________________
2.4 Why might the world face an overpopulation problem?
A. Malthus on overpopulation
a. English _______________________________________________________________________________
b. Malthus made these____________________________________________________________________
c. Neo-Malthusians argue__________________________________________________________________ _____________________________________________________________________________________
d. Malthus failed to _______________________________________________________________________
e. Despite_______________________________________________________________________________
f. The second argument___________________________________________________________________
g. According to Neo-Malthusians____________________________________________________________
h. Many geographers _____________________________________________________________________ _____________________________________________________________________________________
i. A steady flow__________________________________________________________________________
j. Larger populations could stimulate_________________________________________________________
k. Julian Simon___________________________________________________________________________
l. Poverty, hunger________________________________________________________________________ _____________________________________________________________________________________
m. Engles________________________________________________________________________________ _____________________________________________________________________________________
n. A larger population_____________________________________________________________________
o. Population growth is desired_____________________________________________________________
B. Declining Birth Rates
a. Smil has shown________________________________________________________________________
b. Better growing techniques_______________________________________________________________
c. Because of a larger population____________________________________________________________
d. The natural increase rate_________________________________________________________________
e. One alternative________________________________________________________________________
f. One approach_________________________________________________________________________
g. With better education___________________________________________________________________
h. With the survival of more infants__________________________________________________________
i. Putting resources_______________________________________________________________________
j. Rapid growth__________________________________________________________________________
k. Very high birth rates____________________________________________________________________
l. Regardless of which_____________________________________________________________________
C. World Health Threats
a. Medical researchers have identified________________________________________________________
b. Infectious ____________________________________________________________________________
c. Malthus called________________________________________________________________________
d. Stage 2 ______________________________________________________________________________
e. Poor people ___________________________________________________________________________
f. Stage 3_______________________________________________________________________________
g. Stage 4_______________________________________________________________________________
h. Operations ___________________________________________________________________________
i. 3 reasons for stage 5____________________________________________________________________
